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What is the tax treatment regarding expenditure on patents?

eAwrursSe &Ly IﬂGU)LDéF Qsevay eTeuGU) uf&E

- samsEHL_LLBHEADE? ta '

What is ‘e-filing’?

‘cherTem) — HTESE’ GTEMDTE ETemen?

What is meant by ‘Tax Deducted at source’?
@a)g,ﬁ]@&) aufl 914 ssd’ eramLigen QUTHET wimg?
SECTION B —.(5 x 5 = 25 marks)

Answer any FIVE questions. F

Define the term ‘Person’ under the I.T. Act 1961.

augmonar euflg s 1b 1961 e & ‘BUT eTetm LSSHDES CUMTLIDDS
sMS. - '
A doctor who is an Indian Citizen left to France from India on
6th July 2018, to take up an employment there He has never

-

been out of India in the past.

Determine Residential status of the Doctor for the prev1ous year
2018 — 19? - |

Qs Guwseamdu @@ wwHsguT Caumassts mOme 6, 2018
Sienm @pHwunrenes 6N G Wyrenay BTl HéE Qm)éﬂg)rrrr <D{6uT, @g,gp@
e @bHwrenes ol QeualiCus Qeampdareny. :

ooz uarh 2018 - 19 semar m@ggmrﬂm Gl miy ;f)]msomu_las
&ar(H19q S&eYLD?

‘R’ an employee of ABC Ltd., receives Rs.- 2,05,000 as gratuity
under the payment of Gratuity Act, 1972. He retires on
September 10, 2018 after:rendering service for 35 years and
7 months. The last drawn salary was Rs. 2,700 per month
Calculate the amount of gratuity chargeable to tax.

Lefl&QsTan L Q&gug,gjma; sl 1972 e éﬁlap glad N _.—an
uenflwreryren. “wpi” eremueui . 2,05,000 —g3 uafEQsTapwTS
Quudpni. jeui 10, QeliLbuir 2018 ey 35 QU(HLBISET 7 LOMSEIGET
wenfl Qeuig) Wi bg uie] Quudlpmit. Bjeur senLFwins QupHD FLOLIGTLD
wrzsHHE . 2, 700 @D, el Gmﬂa;@;Luu_ Hemfl&ECsmenLullamen
saES (Hé. ‘
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(<) aumwrenr eufl alfufen &P Csuiwrad @oHEstLLL g
¢ 8,000.

(=) elwrury  eugwrend.  ep. 12,0000 @eomy BLLSE  sawsSled
sTUL 1L eflédbena. -

(@) . 8,000 paren eum_ens QAampg 2 LCUTSESSDSTEF),

What is meant by PAN ? Explain its features.

- PAN erenpnéd crenan? igein genaniosaer eilerées.
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X eranUeumsE Campsors @@ i) o dreng). APHOSU pETEH

2018-19 @weugions gar Qemps GRui®Uy o LCurssShsts
vwerL@sHami. eSiiger paErTCd AU 5. ‘40,000 @@, @i
Blumw ooy @ 50,000 p@n e @ 4,000 paprlf euflwirs
Qegugdlenmi. 1.1.2012 <yemm . eugss8pE 10% euliguid, i@
sl_(eugnsrs  m.  10,00,000-sL e  eummiflanmi. . &S = &Ll
wssiuc L g 1.10.2014 semprgh. 31.12.2020 ey sLer Sl
Qeagsuil g. el  aflhume® - 2019-20  s@flw  &SL@

QBTGNS SenTéhEl L ey Ld.

23. From the following P/L a/c, calculate income from business.
o Rs. y " Ras.
To Rent 40,000 -By Gross profit - 2,50,000
. To Salary to employees 25,000 By House propert}lr income 1,.50,000
To Depreciation’ 10,000 By Income from other sources 2,00,000
To Donation ' 8,000 \
To Net profit : 5,17,000
6,00,000 - 600,000
(a) Depreciation to be allowed as per income tax provision
" Rs. 8,000.. o A
1 ,
(b) Business income of Rs. 12,000 is not shown in the P/L a/c.
(¢) Rs~8,000 of the rent is of personal nature.
Spaumd Qoru Bl s sewsdHdlmbg,  NMUTy  eUHLIMSMSES
SaursElLaLb. ‘ :
@_ ) . (.
aTL_as 40,000 QurssParud 2,50,000
Qsmferaieafuid 25,000 oS (& Qsrsg umwremDd | 1,50,000
Gaioran 10,000 @sr emisaedmpg augnand 2,00,000
BT TanL 8,000
flsr @arun - 5,17,000
6,00,000 ‘ 6,00,000
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16.

17.

Determine the Gross Annual value in the folio.winé cases for the
AY 2019 ~ 20. Assunie that all properties are let out.

(Rs. in thousands)
Properties ° I 11 111
| FQ; Rental value | RS R E T 50 70
Municipal Rental value 86 42 50
Standard Rent 84 64 -
Actual Rent '8(2' 92 179
afl o8y syem® 2019 - 20 ssien Qunss en® e
Spsramib.  PoalldGig  satGlyssab.  dor  eSOEEHD
T ans&@ Il L ST SieioreiGseib. "
(5. 2 Ar8i6)
eSU (& Carss I T I
Bluruwrer eS_@ wdiy 87 50 70
BEyTL& aum_es WALy 86 42 50
84 64 -~

Heneo aJ'nlfcmas'

2_GHTEHLD QUL NS - 82 92 179

From the following information, compute the amount of
depreciation allowable for the AY 2019 - 20.

‘Rs.
WDV on Furniture 1418 1,10,000
Furniture phrchased on 10t June 2018 15,000
Fur.nitl;u;e purchased on 18t Jan, 2019 20,000
Part of furniture sold in Feb. 2019 3,000

Rate of Depreciation 10%.
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18.

19.

EpsanL gseusafadmhg efl NSy <em® 2019 - 20 &
2w dlsslu@b Coliwrer Qgramsulame samrésdlalb.

€.
Siamaaen Gl GmDnhHg CFd LDQL'JQ 1.4.18 1,10,000
10 g6 2018 ojeim) iewpsv6T CUMBISILILL G 15,000
18 spameuifl ‘ 2019 aeiﬂg)j @{m;r_r)eseveiﬂ QUITRISLILILL &) . 20,000
Mareu 2019 & LEGH SAmpsoan ApsliLLL g 3,000
GCaimen aﬁ]éﬂg)L‘b 10% <p@ib.
Exp_lain who should file return of income.
QU(HLDITET GU(THEUTEnIL W sr&&e i Ceuam(Hibd? eflaréseLb..

X made the following expenditure on scientific research upto
31st March 2019. Find out the eligible amount of deduction.

(@) On Dec., 21, 2018, X paid Rs. 60,000 to the Madras
University for carrying out research in Social - and
Statistical Science.

(b) On July 20, 2018, X also purchased a land for Rs. 6,00,000.
Later on, a building for research was constructed at a cost
Rs. 30,00,000.

(c) X also paid to National Lab Rs. 1,00,000 for scientific
research.

X eamuar, <ifleflud o rrisfssts Spsraubd Qewamer 31,
orié 2019 eueny CGuopOsteawimt.  sedunear sfle)s Gsrasamw
&ar(H)1 g SSeLD. '. i

(=) 21 gabui 2018 wam geps LHMID LeteNudwe iMefweded
RTTLES CuplsndriepeusnaTs Caamaman LosmOS SPESIDG
5. 60,000 Qeqysdenmi.

(<) 20 g¥ame 2018 ey X Coagib g Hasms ap. 6,00,000 HE
aumiiflenmr. 9p@, ep. 30,00,000 Qeeweller yrmiflsasns @
SLIg L SNG &L 1 6T,

(@) <emeflwed rmisHssts Caslu opiia] si_sSne e 1,00,000 g
Gogitb CQaqsdlemTir.
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20.

21.

22.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Explain any ten exempted incomes u/s 10 of the Income Tax Act
1961. "

aupLomer euflé &b 1961 Gifley 106w S1p aufl eflewéE srefldsii L
LTS FCEHEID LSS ame 6laTsEs.

From the following, calculate income from salary of Mr. Sunil for
the AY 2019-20.

Salary Rs. 78,400; Bonus Rs. 6,200; EA Rs. 3,000 ;
HRA Rs. 7,000 P.A. (He stays in his own house) ; D.A. Rs. 24,400
(forming part) ; Education allowance : Rs. 4,400; Hostel
allowance : Rs. 6,000; Travelling allowance : Rs. 4,900 (actual
amount spent Rs. 3,720) ; washing allowance Rs. 1,175 (Actual
amount spent Rs. 795); Assume Mr. Sunil as Non-Government
employee, employed in Chennai.

Spsramumaseialmbg, efl oAUy paw® 2019-20paTen
. safled eramuaiflen FbLIET QUHLTEISMSE SaTaEE L6, lb.

suemd . 78,400; Guardluid . 6,200; Caalldmstiug. . 3,000;
SCG e emaliug . 7,000 ; @ uBLEHDE (Sioui Qemhs eSiigd
srdlujeTerrt); i eflaneriulg. . 24,400 (@uiays sqiasude) T(EE)s
GerareruuBL) ; s@eflliug ;. 4,400 ; AEHILL . 6,000;
et 5. 4,900 (Qeaey Giisg) 5. 3,720) ; sienf Geuesiiy Ui
. 1,175 (Qswey Gewigg . 795) ; Hm. safldr saflumt Hpeuar
sarfluim, GlFemenarudley Ceuaney UNSEDTT eTEr S(HBeyLD.

“X’ owns a house property. It is used by him throughout the

previous year 2018-19 for his residence. Municipal value of the

. house is Rs. 40,000, whereas fair rent is Rs. 50,000. Municipal

tax paid by him was Rs. 4,000. X borrowed Rs. 10,00,000 on
1.1.2012 at 10% p.a. for construction of the house. The
construction was completed on 1.10.2014. The loan amount
repaid on 31.12.2020. Compute the income from house property
for the assessment year 2019-20.
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